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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-13 0
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P3-13

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR e

07:50 250 130.0 RS {Ri&e07:50 Bz (REAERESE)
08:40 250 130.0 RS {Ri&e08:40 B (KRFEEREE)
09:30 250 130.0 S| 1Ri%8e09:30 B3h (REEEER)
10:20 250 130.0 BE| Ri8e10:20 Bal (REAEHSE)
11:10 250 130.0 B Rige11:10 Bz CGREEESE)
12:00 250 130.0 S| 1BRige12:00 B3h (REEER)
12:50 250 130.0 el Rige12:50 Bal (REAEHE)
13:40 250 130.0 RS Rige13:40 BHa (REAEHE)
15:05 250 130.0 BE| {Ri%e15:05 B (KRGS
2it[2250.0 (9%) 1170.0 329333 %EC: 2080.0, PH: 5.8

TERRHER 2 STEEART (162.0 :

ZRIASEPRIERE118.0 ml.

118.0), FAEEHT—@ L XA H4S
EORGEBERTC (250) 5THA (277. 0) A7, AIBEH T % 1A[E#EIRS % XEM

large discrepency for begining water status (95:228.0), set to 95 ml.
REREREC (2595.0) 5IZTEEC (2000.0) WEHKK, HHRE
[E/&EC 5425.0 K75, B FARECALAAIEER

FEIKECE (2595. 0 vs 5425.0) 15




P3-13_0, Day=33 (2025-05-03)
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P3-13

BYiE) | EBIATK (FD) | EME (EH/HK) | XK PR

09:30 255 130.0 FA| {RRi&@09:30 Bzl (kA{EREEE)
10:30 255 130.0 FA| {RRi&@10:30 Bz (RAEEE)
11:50 255 130.0 FA| 1Bi&e11:50 Bzh (RAEEEE)
13:30 255 130.0 FH| 1Bi&@13:30 Bah (RAEREE)
23+11020.0 (4%) 520.0 32353 KEC: 2080.0, PH: 5.7

TERRHEBR 2 STEEATF (166.0 :

ZRIASERRIERE117.0 ml.

large discrepency for begining water status (108:267.0), set to 108 ml.

117.0), AlEEHT—R L XA HS
LoRGERRET 4 (255) 574 (283. 0) FF, FIREHI T & G EIRS £ X &R

BEXRIEMEEC (2700.0) 5iZXEEC (2000.0) wEFK K, HEE

HEEIHECE (2700.0 vs 5115.0) i35
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P3-13_0, Day=32 (2025-05-02)
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